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HEXENS1TH 22 3 3 15 14 1| 4] 1 3
HEXES2TH 4 1 1 3 1
HEXENS3TH 5 3| 2| 1 1 1 1 1
HEXES4TH 3 3 2 1
HEREELITH | 28 2 2| 3 3 13 4 3 6/ 10| 3 7
HEREEL2TH | 11 7 2 2| 3| 4 3
HEREEL3TH | 21 1] 10 9 1] 10| 3 5
HEREFL4TH | 11 2 1] 1 3 3 6] 2 3
HEXHEUITH 27| 1] 1 2 1 15 8 2 51 9] 3 5
HEXHEL2TH 13 6 4 2| 7| 1 5
HEXHUSTH 14 3 2| 1 8 3 2| 3| 3 3
HEXAHEITH 19 1] 1 1 13 7 5| 1] 4| 1 3
HEXAHE2TH 21 2 1| 1| f 1 12 9| 1 1 1] 6 4
HEXEESITH | 27 1 1 2 17 5 4| 8| 7 6
HEXEEZE2TH | 45 1] 1 1 33 15| 1 7| 10| 10| 4 5
HEXEHE3TH | 56 1] 9| 2 29 12 3| 13| 16| 5 10
HEXEESATH | 11 9 6 3 2| 1
HEXEESESTH | 12 1] 4 2| 1 1 o 7 3 4
HERGESITE | 17 9 3 1 5 8 3 3
EEXTEE2TH 7 5 1 4] 2| f 1
HEXFEEITH | 21 4] 3 14 9| 2 3 3 2
HERGESATE | 12 2 1] 1 10 4| 1 1 4
HEXTEESTH 8 6 5 1 2| 1 1
HER=@E1TH 8 2 1] 1 5 2 3| 1 1
HERX=H2TH 14 5 3 2| 9| 2| 1| 6
HEXESE1TH 37 2| 1| 1| 2 2 20 5 10| 5| 13| 5 8
HEXESE2TH 14| 1| 1 11 1 8 2| 2| 1
HEXESE3TH 19 1 1 11 5 2| 4| 7| 4| 1] 2
HEXES4ATH 9 1 3 3 5| 2| 1] 2
HEXFHSITH | 11 1] 4 1 3 6| 1 5
HEXFHS2TH | 17 3 1] 1 2 1 1 12| 4 8
HEXFHE3TH | 17 14 1) 7 1| 1] 4 3 2 1
HEXFESRATH 9 2 1) 4 2 1 1] 3 1] 1] f
HEXFHRSTH | 14 3| 2| 1 7 2 5| 4] 2 2
HEXFHR6TH | 10 1 1 5 2 1 2| 4 3 1
HEXGE1TH 7 6 3 2| 1] 1
HEXGE2TH 14 4| 2| 2 7 5 2| 3 3
HERAAAITE | 32| 1 1 23 4 14| 5| 7] 1 6
HEXAAA2TH | 18 1] 11 8| 1 2| 6| 2 4
HERAAAITH | 11 1] 9 4] 1 4] 1|
HER#HXFITE | 14 1] 1 1 6 2 1 3| 6] f 5
HER#XF2TH | 30 2| 2 4 3 12 3 1| 4] 4|12 4 7
HERGRENTE | 17 3 1 12 1] 5 6| 2| 1 1
HEX$RE2TH | 48 2| 1 35 35 8 4 4] 3] 3
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HERESAR1TH 14 10 8 1 1| 4 2 2
HERESAE2TH| 19 11 6 2| 3| 8] 2 6
HERESAESTH 7 1 1 4 1| 1 1 1| 2| 1 1
HERESAE4TH| 8 1 1 6 4 2l 1| 1
HERESARSTH 14 1 1| 1 1 7 6 1| 5 3 2
HERESARGTH| 14 2| 1| 1 9 5 4] 3| 1 1
HEREE1TH 16 12 7 1| 1| 3| 4| 3 1
HEREE2TH 6 1 1 1| 2 2 2 1
HER®E1TH 5 5 2| 1 2
HEREE2TH 6 2| 1] 1 4 2 1| 1
HERE1TE 6 3 3 2 1 1| 1] 1
HER@E2TE 6 1 1| 5 2 2
HERESTH 11 1| 1 6 5 1| 4] 2 2
HERBXA1TE | 16 1| 1 6 4| 1 1| of 4 5
HEREXA2TH 7 7 4 1| 2
HEREXA3TH 6 1| 1 2 1 1| 3 2 1
HERBMXA4TE | 34 3| 1| 2| 1 1 26 7 15 4| 4] 1 3
HEREXA5TE | 14 10 4 6| 4 2 2
HEREXA6TH 8| 1 1 1 6 5 1
HERBEE1TH 10 1| 1 1 1 5 4 1| 3 2 1
HEREE2TH 30 3l 1| 2 17 1 9| 1 1| 510/ 3 1| 6
HERBEESTH 60l 1| 1| 3 3| 1 37 20 11| 6| 18] 3 15
HERXFE1TH 24 1 1 16 9 1| 3 3| 7| 3 4
HERFE2TH 9 1| 1 2 2 3 3 3| 3
HERARLITE 3 2 1 1|
HERAMW2TE | 11 1 1 7 1 1 5 2 2
HERGAE1TE 8 1| 1 1 1 2 1 1| 4] 1 3
HER#§AE2TE | 15 9 2| 1 4l 2| 6 2 4
HERENESTH 3 2 1 1 1|
HEREmAEITE 62| 1| 1| 9 6| 3 38 8 1| 1] 19] 7] 14| 4 9
HEREmAE2TH| 39 1 1| 2 1| 1 29 11 12| 51 7] 1 4
HERE®mAESTH 9 1 1 4 2| 1 1| 4] 3
HERHRI1TH 34 3 3 27 1| 10| 4 1| 7| 4 4] 1] 1] 2
HERHR2TH 17 2| 1| 1 11 8 2| 1| 4] 2 2
HERMOAEITH 14 1 1 9 1| 4 1| 3] 4 2 2
BERMOKRF2TH| 9 1 4 3 1l 4| 4
HERMHOAEITH 3 3 3
HERNE1TH 15 10 5 2| 3| 5| 4 1
HER/N\E2TH 4 1 1 3 1 2
HER/N\ESTH 8 1 1| 1 1 1 1 5 1 4
HERNEATH 6 4 2 2| 2 2
HER/N\ESTH 3 2 2 1 1
HERHEHAEITH 9 2| 1| 1 5 3 2| 2|
HERZAE2TE | 10 2| 1| 1 7 5 2| 1|
BEER &t 1417 6| 4|110| 58] 43| 75| 1| 13| 51] 2| 1| e1s| 1| 5l400] 21| 1| 1| 7|154]223|408] 145 6]230
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